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1 B4 EALEE L HAAL A
LAY 22— — A (B)=2—URMN % 1,800.00
2B L o0 FLIRE =55 5 (BK) kg 274.00
3| HFLE FLIR =575 5 (%) B 3.60
4| T REZA FLIR = 5577 5 (1K) kg 1,400.00
5|H 0L (k) Hiil ik kg 97.00
6L FLIR =557 5 (1) kg 280.00
=~ FLIR =5 7 28 (BR) kg 347.00
8|72V B (BR) 7 Vv ez Kig /K pE kg 2,100.00
9| =—LH=R FLIR =55 7 28 (BR) kg 570.00

10| 5] ZIEDNCA LA (BK) Hil kg 335.00
11|5HUB (Bk) 7 vvaa KiG/KpE kg 1,180.00
12|45 BRELETE H AR SKAE £ (BR) 1 40.00
13FH AL LR =57 R (BR) kg 820.00
14| N (B Hiil ik kg 125.00
15[125 LR =5 75 58 (BR) kg 850.00
16|LL D2 FLIR =557 5 () kg 1,900.00
IVIEES FLIR =5 & (%) kg 90.00
18| x> (BK) Al kg 69.00
19| P JI FLIE = 4675 5% (BR) kg 125.00
20[L A A (¥ Al kg 228.00
21| KR FLIE =55 1 (BR) kg 82.00
2|77 4= FLIR =557 5 () kg 1,450.00
23|Z1FH FLIR =5 5 (BK) kg 141.00
24| (BK) Al kg 335.00
25| EZ FLIR =55 & (%) kg 100.00
26|12 A< FLIR =55 3 () kg 2,200.00
27|81 FLIR =505 3 (BR) kg 360.00
28|51 FLIR =55 5 () kg 450.00
29|h~h FLIR =505 3 () kg 440.00
30[2=k=F FLIR =55 5 () kg 840.00
31[/vin e FLIR =5 5 () kg 520.00
32| HoHE FLIR =555 5 (1) kg 1,100.00
33| AEHMEE FLIRE =55 5 (%) kg 740.00
34|z oxFE (B Al kg 298.00
35|10 AT LI =5 5 58 (BR) kg 385.00
6| SLvTFLLY FLIR =55 7 28 (BR) kg 357.00
7L~ FLIR = 557 5 (1) kg 445.00
38|77V T (k) Hiil ik kg 900.00
39|34 FLIR =5 5 (%) kg 490.00
40|13 ) FLIR =557 SR (BR) kg 190.00
AN ANAT TV FLIR =50 5 (BF) kg 185.00
42|17 A 7 )— LR =5 7 8 (BR) kg 565.00
43|46 H A o B—h (k) kg 2,080.00
44[IEHH A b B —b (BK) kg 1,080.00
45|77 LA o B —b (k) kg 2,000.00
46K~ —a b B —b (BK) kg 1,480.00
47| F ¥ — 2— o B —b (k) kg 2,080.00
48|&1E7 4L —B (BR) 7orm=a KgAK PE kg 1,080.00
49[FSAHA () R )\ & e 300.00
50[BhEnTex () R )\ & % 1,150.00
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51 <O () a—U8 kg 1,520.00
52| 7K L H HE S (B)=2—URM kg 446.00
53| EH FLIR = 5571 5 (1) kg 242.00
54[13H o (B)=2—URM N 430.00
55( YL T4 2D G kg 640.00
56| FEHFEA H AR H B 0h (k) 1 888.00
57|V X AB L Dizh () za—URMm ZN 330.00
58k F—A H AR S A0 (BR) A 300.00
59 HHIFUKAR (BK) Al kg 476.00
60| E )Y A b B —1 (BK) kg 1,030.00
61{HLOETA L) — b B — R () kg 1,100.00
62|F 7 A FLIR =557 R (BR) kg 360.00
63| 4EF ma*ﬂi (FF) kg 140.00
64| VAT AIKE: FLIR =5 (FK) kg 397.00
65| A=A T — H K%%ﬁfm (FK) 13 532.00
66|72V A (BR) 7o aa KA K E kg 2,200.00
67| EfTEtexz Y () R )\E kg 5,500.00
68[¢0 i E B H AR B (BR) e 550.00
69| FNAIBAL AT —F ) — 2R e GS) N 925.00
T0[ R e S () =2—URM 1 55.00
BIEIPES FLIR =557 5 () kg 345.00
72|DFea—7 L T R R AT R | 82.00
73| EHL (k) Hiil ik kg 319.00
41477 FLIR =55 75 SR (BR) kg 1,370.00
7540 bV A b B3 —HEE) kg 2,080.00
76|21 EH VT H H AR SRR £ (BR) kg 782.00
7R —~r (B Al kg 698.00
78| S LA AT %< (B W FH P i kg 314.00
9| A ZDTG— A AT (B)=2—URMN N 880.00
80|14 —7"IH (k) & -85 N 870.00
81| Ry FaRL v s HARE R (BR) Z 625.00
82| fifi FLIE =575 5 (BR) kg 560.00
83|zF v H Zfiﬁ%ﬁuu (FK) 1 282.00
84[5> DA (BK) B FH pH )5 kg 80.00
85| 4xHFA (B)=2—URMN N 260.00
86| KT /K& H AR & (BR) 13 463.00
87|71 F (B)=2—URMN N 720.00
88[it —~ (*ﬂ%)ﬂﬁlﬂz kg 698.00
89| /K3 FLIR =55 (FK) kg 570.00
90[4 I mﬁ'*ﬂi (k) kg 430.00
91|#\ B (BR) 7o aa KAE K E kg 1,100.00
RUMNEHL Y TH H AR E &0 (BK) A 775.00
93| A (BR) 7o aa K&K E kg 1,200.00
94| ki~ AKX —K (F)a—UR M ] 360.00
95Ky o — A o B —1 (BK) kg 1,380.00
96| 4FF 7V YTy R RS TR | 42.00
97 (A ANEARY — 2T A Z H AR FE £ ih (BR) iR 1,110.00
98|45k =4 FLIE =2 F A (BR) kg 157.00
9 EN=lF AL =253 5 (FK) kg 457.00
100|U—7 L% R (k) Hiil ik kg 324.00
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1012z — 2380 A b B —h(BR) kg 6,000.00
102|Fy#E R (B)=2—URM Gl 600.00
103 LR £ (A X AD) H AR ZE &0 (BR) A 380.00
104|722 LB b A o B —b (BE) kg 1,180.00
105] /AL U A H AR & (BR) kg 500.00
106| 0O L EILT P —h H AR H B 0h (k) N 540.00
107|~RF2AHL—DFHE PP 5 (BR) = 1,150.00
L08|HTE B LS M=o 50T L—F ALY | B ARS8 () 13 532.00
109K — AN+ 7 Vv 7 H b = (BR) kg 1,480.00
110[19°< (Bk) 7 vvaa KRG /KpE kg 750.00
HI[ENUICAILK Ly s H AR AR £ in (BR) ZN 775.00
112|fp & E R FLIR =55 7 28 (BR) kg 540.00
13|t a AT —F b E R — (BK) e 68.00
IBEA R3] =i A A G 13 800.00
15K n—AR vk o B —b (BK) e 138.00
116|737 F G LAk} ()2 —U R 1 76.00
7|7 axXT7vny 7 SR s (BK) N 800.00
118|7 —F = (fFH) (BF) & A 5 4% 700.00
119|=—b— g ALECBH () =2—U & 1 76.00
120| <V RRL s H ARSI £ (BR) ZN 700.00
121K A H AR/ (BR) {E] 53.00
122\ BRAR S &4 A A G )5 ()= —URMm 4 740.00
123|5F kbbb AT —% b E R — b (BK) e 110.00
124| ) FANKAF- DO BRL v T (BK) & L& ZN 700.00
125\ RS> EHT (B)2—U& M kg 664.00
126\ 7FP)—DFE (FL o) H AR SRR £ (BR) & 650.00
127 [E RS LRy T (BF) & L& PN 745.00
128 HUsES H DX A1 H AR &0 (BR) 18 217.00
129|695 % 5% K& FLIR =5 5 () kg 367.00
130| B RSAE (Bk) 7 vvaa Kig/KpE kg 1,300.00
131 $REe OHh T HAMTEA (A) IR )\ kg 4,300.00
132|ERTe OFh 1-EAMUEDB () IR )\ & kg 4,300.00
133\ HRA T IRV — I (Bk) & L& 1 240.00
134|337 DFE (T H) H AR ZE &0 (BR) A 1,380.00
1358 U BRERIE A () IR )\ kg 1,650.00
136| U BRHkIEB () R\ & kg 1,650.00
137| K ke (B)=2—URMN N 340.00
138|589 FLIR = 5577 5 (1K) kg 1,450.00
139|FamL—hr/—2 H A # Bdh (BK) Z 450.00
140| U3\ FLIR =5 5 (%) kg 118.00
141| A=A (k) Al kg 138.00
142 L1 LI B Ak} I P (BR) {E] 73.00
143| W R BT T KIS BEFIIEA ()= —URMm e 196.00
1445 A7 (F)a—UR M & 168.00
145|0—ZNDBAT A A b FI—h(BK) kg 1,200.00
146/ BN A K BESTE H AR E &0 (BK) A 525.00
AT OISOV —I—KRL vy ) (HR) & L& ZN 750.00
148|/E L xH Kt (F)2—UR M N 380.00
149|010 ) 5 (BR) & A 1= 280.00
150)/METH)VALAEFE (B)2—URM I 264.00
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151 |/ NMSE R () a—U8 1 130.00
152|X>F U, FLIR =57 5 (1) kg 367.00
153|7— 2 T AT I A FLIR = 2575 5 (k) kg 1,670.00
154[LALDL FLIR =575 5 (%) kg 550.00
155 | &L (— ) Bl AL S 2 1 93.00
156|F~hE 2 —L—1F (B)=2—URMN 1 180.00
57|V B () za—URMm ZN 240.00
158| AT HATAAF —X (— ) B oL AL S 2T B 42.00
159\ T D 35 (BR) & L& % 1,980.00
160|487 L —_Y—)— 2 (A)a—UfW N 433.00
161|HE AL —T71L—2 (k) & -2 b 13 660.00
162 F5 2 Rk (B)=2—URMN N 395.00
163|7FA K=V 7 H AR & (BR) A 550.00
164|505 DA (B)=2—URM N 1,210.00
165|723 —t—PV—Iv /2D YR P (BR) I 1,850.00
166| LN B H AR B (BR) S 700.00
1671 H A E B0 (1) kg 104.00
68| —>7 H A2 B b (BK) kg 750.00
169/ — H AR B (BR) {E] 24.00
170|728 H D Mk () =2—URM 18 19.00
17172 b) o — ZA—7 (k) EvAFLIR = SEPT {E] 105.00
172| HUEI AV B H A3 100 (BK) kg 694.00
173|°bbnEkEY — (B)2—UR MW 1 168.00
1747 Ny =R 4 —H— (BR) B A LR = 3P 1l 125.00
175|2FEL b B —b (BK) kg 9,000.00
176 | I e LI 1A fOk () a—U8 A 368.00
177\ KEI—h (B)=2—URMN 1 185.00
178| /S 7B 7= AT Z 13 A (BR) B A LR = 3P 1 176.00




